H & 0l & AHS B Ml A

SN EABI Y
Ma: Roix0lo] AYEA
el =2 g2z M3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAMI 9,881,515 10,616,692 AN735,177
= 984,705
Jl 1,347,002
Al 1,623,349
- 5,926,459
N 2,193,648 1,980,997 212,651
= 737,360
) 87,158
Al 912,903
- 456,227
FEE2 (g2 MS 121,026 85,286 35,740
Jl 39,863
Al 38,057
- 43,106
422 J1& CPR, dHXIZ0l AED! 13,000 12,160 840
Il 4,000
Al 4,000
- 5,000
201 2= 5,000 5,000
01 At22t2l] 5,000 5,000
OAED THXl + 100,000 * 10H 1,000
S=228 EE8 =23 7Y S
2,000 %5007 424 4,000
405 KHoHF S| 8,000 7,160 840
) 4,000
Al 4,000
01 TR ESFISHI 8,000 7,160 840
OXtsddsa)| e
2,000,000 *4CH 8,000
Jl 4,000
Al 4,000
) S I8 & HEANS 2,000 2,000 0
201 er23| 2,000 2,000
01 At2teltl 2,000 2,000
OFJ S JI& & A 28I
1,000,000& %1 1,000
O8E ME Ed 2|
1,000,000& 1= 1,000
AE2E 2SI 1,500 1,500 0
Jl 1,050
Al 450
201 er23| 1,500 1,500 0
Jl 1,050
Al 450




SN EABI Y
Ma: Roix0lo] AYEA
el =2 g2z M3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,500 1,500 0
odsHsSE 24| 1,500,000& 1 1,500
Jl 1,050
Al 450
A= 28 A 32,400 0 32,400
Al 16,200
- 16,200
307 21201 & 32,400 0 32,400
Al 16,200
- 16,200
02 2B HAHE L 32,400 0 32,400
o=s9= 249 & 2,700,000 128 32,400
Al 16,200
T 16,200
0= & o9E 2EE ol 2,500 2,500
201 Zet=Ehl 2,500 2,500
03 A= SHI 2,500 2,500
OHOPt= %S otE AIB U= 2,500
Os2=8 & 1,000,000 *14] 1,000
OZ A 100,000& %1574 2 1,500
KSAM|HZEAL ZAEA RS2 69,626 69,626 0
Jl 34,813
Al 17,407
- 17,406
201 2egh=3| 500 500 0
Jl 250
Al 125
- 125
01 AtR2tc|Hl 500 500 0
OXISALE] ALXZAL E2= A
1,000 *500AI CH 500
Jl 250
Al 125
- 125
307 212+01& 69,126 69,126 0
7l 34,563
Al 17,282
- 17,281
05 git?(& = 69,126 69,126 0
OATZTAAIE EEUisS A2
69,126,000 * 11 £ 69,126
Jl 34,563
Al 17,282




SN EABI Y
Ma: Roix0lo] AYEA
el =2 g2z M3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 17,281
uAE 7A # S 2,072,622 1,895,711 176,911
= 737,360
Jl 47,29
Al 874,846
- 413,121
Rotd olgd X 887,000 824,000 63,000
= 665,000
Al 111,000
- 111,000
308 AHXIHMSO0IA 887,000 824,000 63,000
= 665,000
Al 111,000
- 111,000
183 SIS B XA AIE 887,000 824,000 63,000
oxgtgolEd X&
2,000,000 «2472+3,000,000& 131 887,000
= 665,000
Al 111,000
- 111,000
H00| BEEE £d=06ts A& 35,000 35,000 0
301 22N = 35,000 35,000
02 ARI2HH S (FHAAS, NLHE) 36,000 35,000
OHO0I0| B=E 2d=ols X2
100,000& x350H 35,000
sd=ols N2 214,000 199,000 15,000
Al 149,800
- 64,200
301 eEtE N = 214,000 199,000 15,000
Al 149,800
- 64,200
02 AR EE A S(FIANE, XETHE) 214,000 199,000 15,000
O=d=ols XN& 1,070,000& x200& 214,000
Al 149,800
- 64,200
Sddes N2 1,000 62,450 261,450
Al 700
- 300
301 EtE N = 1,000 62,450 261,450
Al 700
- 300
02 NBI2HHLFS(HAAS, XNLHE) 1,000 62,450 261,450
oO=d%Hs NI¥ 50,0002 *20H 1,000
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SN EABI Y
Ma: Roizolo] AYEA
ol 2X2d 74 # Sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 700
T 300
N € ZH=ER K 144,720 143,960 760
= 72,360
Al 36,180
- 36,180
308 XXM SOIA 144,720 143,960 760
= 72,360
Al 36,180
- 36,180
13 SI[2S0He 4 A AS A 144,720 143,960 760
OJIHAH & ZH27 XN
723,600 x200H 144,720
= 72,360
Al 36,180
- 36,180
HYRE X (HEAIY) 236,000 149,413 86,587
Al 177,000
T 59,000
307 elztol & 236,000 149,413 86,587
Al 177,000
- 59,000
019z & 2=Hl 236,000 149,413 86,587
oIS Alst| NI
1,180,000 x200&H 236,000
Al 177,000
- 59,000
e DEZH A XIR AR 65,000 0 65,000
Al 45,500
T 19,500
307 glztol & 65,000 0 65,000
Al 45,500
- 19,500
01 2g & 2=Hl 65,000 0 65,000
Oty MEHH A 200,000 *325% 65,000
Al 45,500
- 19,500
AEME 9|2 A& 1,600 6,200 24,600
7l 800
Al 400
- 400
308 AtAIEHMSOIE 1,600 6,200 4,600
Il 800




SN EABI Y
Hu: qoF0lol AAEZ
ol 2 ]A & SH (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 400
T 400
18 SIS0t & A AS A 1,600 6,200 24,600
OBAENG o224 X
800,000 x2H 1,600
Il 800
Al 400
- 400
DAY AR ojgH| K& 56,000 14,000 42,000
Il 28,000
Al 14,000
- 14,000
307 212t01™ 56,000 14,000 42,000
Il 28,000
Al 14,000
- 14,000
0122 & 3= 56,000 14,000 42,000
0D Yae oYX
1,400,000 ~40& 56,000
Il 28,000
Al 14,000
- 14,000
HEEDANEH-FE & A=H WA 1,220 720 500
308 XtXIEMSO0IH 1,220 720 500
13 SIS0t 4 A A A 1,220 720 500
OHx=RAE2A+F A2
2,00021%360% 720
oYUM Hi WY FIste|
1,000 %500 500
AP - A0 HA 2R KR (HEALY) 332,100 323,480 8,620
Al 282,285
- 49,815
308 XtXIEMSO0IE 332,100 323,480 8,620
Al 282,285
T 49,815
18 SIS0t 4 A AS At 332,100 323,480 8,620
OLE - AAOL A2 AHKE 2]
1,107,000 *300H 332,100
Al 282,285
- 49,815
e AZ2AZ2ACIAF DA 51,99 58,249 N6, 254
Al 51,9%
301 LeENZ 51,99 58,249 26,254
Al 51,99%




SN EABI Y
Ma: Roizolo] AYEA
el 2AY =i 2 SN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 51,99 58,249 6,254
Ot—g st2Ad2e|Ar IA
259,975 x200 51,99
Al 51,99%
ALETAG 2l (HE0-l0l S3at) 16,800 0 16,800
Il 8,400
Al 4,200
- 4,200
301 22N = 4,800 0 4,800
Il 2,400
Al 1,200
- 1,200
11 #AIAHIXIE S 4,800 0 4,800
OZZ8 ZAHI 150, 000& »322 4,800
Jl 2,400
Al 1,200
- 1,200
307 @I2t01 & 12,000 0 12,000
Il 6,000
Al 3,000
- 3,000
012z & 2=Hl 12,000 0 12,000
OYLrs HE2MH & SatH &
3,000,000 *43 12,000
Il 6,000
Al 3,000
- 3,000
DX AZA 16,520 14,200 2,320
201 fer= 3| 13,520 13,100 420
01 At 2|l 13,520 13,100 420
OZEt=EH| 13,520
ORZitrzel =2 24
123,000& *402] 4,920
Os4 - 0t =&+ 10,0002 *70A 700
OAHEE 2IEA M
1,000 +2,500& 2,500
OA B2 =23 M&
5,000& 25 +500H 5,000
OARES 7Y 1,000 *400H 400
301 LEtE N = 3,000 1,100 1,900
11 #AIAMHIXIZ S 3,000 1,100 1,900
OZA AZae| 28 CHityl
3,000& %20 *403] 2,400




SN A
I TF0lo AVST
=@t 2XH RA & SA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OWbI=S T2 e = 2AH]
150,000 #4323 600
FtAZHTAA (S R0E BA) 4,958 4,907 51
) 3,966
Al 4%
- 4%
308 AXIHSOIA 4,958 4,907 51
Jl 3,966
Al 49%
- 4%
18 SO 2SS 4 AS A 4,958 4,907 51
OER0t A2 49,5802 100 4,958
Il 3,966
Al 4%
- 4%
SORIZBTAS (R0 LSEHOH HLHA 4,667 2,592 2,075
Il 3,733
Al 467
- 467
307 212+01& 4,667 2,592 2,075
Jl 3,733
Al 467
- 467
012z € /=4 4,667 2,592 2,075
OYKOt LLHH FLLAH| X
233,350 +20 4,667
7l 3,733
Al 467
- 467
SMAL TN (AT S0 =3I ABBTAL 2 1,250 1,000 250
i)
7l 1,000
Al 125
- 125
201 fer= 3| 1,250 1,000 250
Il 1,000
Al 125
- 125
01 AtR2t2lHI 1,250 1,000 250
02250 =a5dA AZHIAIY 23|
625,000 25 1,250
Il 1,000
Al 125
- 125




SN EABI Y
Ma: Roizolo] AYEA
el 2AY =i 2 SN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
dEd g3 3SAL Y 20| XA 2,79 2,340 452
Jl 1,3%
Al 698
- 698
307 212+01& 2,792 2,340 452
7l 1,3%
Al 698
- 698
012z € 2/=H] 2,700 2,280 420
OdEYd HHEAMN Y EFD| K&
30,0002 +90& 2,700
7l 1,350
Al 675
- 675
05 2IR”tRIE = R 60 32
OAr2telHI (AEAZHI)
92,0002 %12 R
Jl 46
Al 23
- 23
ALY ¥ AEO ASAMHIA WS 3,760,909 4,779,971 A1,019,062
= 247,345
Jl 1,222,650
Al 687,771
- 1,603,143
3 Y BAY 2| 3,500,536 4,462,957 N962,421
= 247,345
Jl 1,222,650
Al 687,771
- 1,342,770
TAHAS 538,009 508,417 29,592
101 @124H| 403,039 391,550 11,489
M ORINZZENSE S 403,039 391,550 11,489
OgIFAS LAIASE 2I2Y 360,216
OE2A A5 & RSN (2Y) 34,397
Jl2s 78,8803 x2H 175 27,608
Ferd 78,880 x2& 34! 5,364
- Xt 78,8803 x2H 7 1,105
- WS 2L 20,0003 2 +83 320
OAAx YAXHAS(2Y) 38,401
Jl2s 78,8803 x2H#175& 27,608
CERE 78,8803 2 352 5,522
- At 78,880 x2H 7 1,105
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SN 2HAFH D
S ZEYAUY X 2E M MHIA KIS
Rl ZEE A 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- WSE X 20,0002 2 +8E 320
C ARl g 14,7003 =2 *130A| 2t 3,846
OSYAL=(19Y) 287,418
Jl2s 78,8803 x19F x 14 230,803
CERE 78,8803 x19E«30! 44,962
RPNERS 78,8802 x 192 +6 8,993
- S22 20,0002 x 19«72 2,660
O4UHEE AIEX BE= 40,523
Oo=gig=z 360,216,000 *4. 5% 16,210
(@Faksi-—ts 360,216,000 +3.545% 12,770
OLMIQASE
12,770,0002%12.81% 1,636
ouns=Es 360,216,000 *1.75% 6,304
O4tiEe 360,216,000 * 1% 3,603
OJIZtHZ22 Xt TI=H| 100,000 +23& 2,300
201 er23| 11,320 11,320
01 AtR22te|Hl 6,920 6,920
Odgt+=H| 6,520
Ogda=s 2S8H| 7
30,0002 x85+23 5,520
Ogdis It B 1Y
100,000& *105 1,000
OgHA=RF UI=H| 100,000 +4& 400
02 S3=gHl 4,400 4,400 0
OAIE2EbBI= X 4,400
OFUEHRI| =H 100,000 +20CH 2,000
OS2I +=d 500,000 ~2CH 1,000
OxsxlsERI| =
20,0002 »20CH 400
Ox3I| =4 100,000 *5CH 500
OdiSIILHMEAI =&
100,000 «5CH 500
203 gR=8| 2,250 2,250
03 A=A 2= 2,250 2,250
ogogexd 2,500,000& *1=+0.9 2,250
206 M=l 103,297 103,297
01 M=4l 103,297 103,297
ogsetEhl 98,760
OEBRAS 29,000
AEM(EAL) 40,0002 %4 £ 1403 22,400
d4EM(S) 40,0002 1 £ *1353] 5,400
&l 12,0002 %100 £ 1,200
OHRAE 40,0002 %4 £ 1403 22,400
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SN EABI Y
B mHOMY U LT WRMHIA HIB
SRl Y SHAtET] 22| (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OARAZ 2L 3,100 %40 £ %1402 17,360
OJIEt S 30,000
BEA e PRI 15,0002 *100H 1,500
=S| | 36,000 *600S 21,600
- KOl < RIA 3,000 *300H 900
- J1IA 300,000 +20S 6,000
ogH 7=l 4,537
O=2da 228 1,338 %5 £ *1502] 1,004
Os H2E 1,338&*16 £ *1652] 3,533
301 EtE NS 1,288 1,288
11 dALEEIXIZE S 1,288 1,288
ossYolol 2 29y
8,000 »23Z 72 1,288
405 KHoHFSHI 16,815 16,815
01 IR ESFISHI 16,815 16,815
oxgss 22| 1,910,000 *2CH 3,820
OAH %XZS 2,400,000 2CH 4,800
Odlis 7ol &=J| 885,000 *7CH 6,195
OdE JIILIH 2AI 1,000,000 *2CH 2,000
UL ESAA 1,796,8% 1,746,514 50,342
Jl 898,428
Al 449,214
- 449,214
307 elztol & 1,796,856 1,746,514 50,342
Jl 898,428
Al 449,214
- 449,214
0192 & 3=l 1,796,8% 1,746,514 50,342
O0iZ4l ISR} HBES
44,8453 20,000 896,900
Jl 448,450
Al 224,225
- 224,225
OO0el0Id, 7RI & =SSt QISR
AHYES piZiol= 0|2 HEH|
30,548%%4,000H 122,192
Jl 61,096
Al 30,548
- 30,548
OO0El0l HIYES 34l & oelo] 22t
I §3H| 45,5433 %14,000& 637,602
) 318,801
Al 169,400
T 159,401




SN 2HAFH D
B mHOMY U LT WRMHIA HIB
el ZHEY SRl 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBEZHE Fob| 2 OlAY
177,800& %10 1,778
Jl 889
Al 445
o 444
O H+Z OlYE Sy
40,9542 +2,000& 81,908
) 40,954
Al 20,477
T 20,477
OLfEz HLESHI 9,710&+200& 1,942
) 971
Al 485
2 486
OYR QBT RIS RIIR BB
16,8002 x345% 5,7%
) 2,898
Al 1,449
T 1,449
Ossw 15d CISRAUL LS 22t
2J12 83| 31,2053 400 12,502
Jl 6.251
Al 3,126
- 3,125
OV 1Xt S22 A HEES
14,0002 200 2,800
Il 1,400
Al 700
= 700
OV DIZEX HILEE
83,5003 400 33,436
Il 16,718
Al 8,359
- 8,359
VAL ESAAM(OIZEMZ22 X 21248]) 18,255 33,974 15,719
Il 9,127
Al 4,564
- 4,564
101 @124H| 18,255 33,974 A15,719
Jl 9,127
Al 4,564
T 4,564
M OIRINZZ2NSE S 18,255 33,974 15,719
O=JIHYES At SFHZZ2X HHAH
urals] 16,3%
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SN BAHFE D
B mHOMY U LT WRMHIA HIB
Chel: 2ol BT 22 CERL
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
oJlzs 78,8802 1302 10,255
Il 5,127
Al 2,564
- 2,564
O=s=g 78,8803 26 2,051
Il 1,023
Al 514
- 514
Odxte=g 78,8806 474
J| 238
Al 118
- 118
Od A SAH| 140,000 6 840
Il 420
Al 210
- 210
OusS2xH| 120,000 6 720
Il 360
Al 180
- 180
OE &S0 &= 2,053,800 x1H 2,054
Il 1,028
Al 513
- 513
O4UEE AEX RY 1,521
Oo=gg=s 13,500, 0002 4. 5% 608
J| 304
Al 152
- 152
@Fal gt 13,500,000 *3.545% 479
Il 239
Al 120
- 120
OLQZEIQRAEH 479,0003%12.81% 62
Il 32
Al 15
- 15
ons:ss 13,500,000 *1.75% 237
J| 119
Al 59
- 59
O&HES 13,500,000 * 1% 135
Jl 67




AN BAMI
M FETMAY ¥ 2HO NI MHIA WS
CHRlr 23Y Bl 2l EER=E)
A - B G(3H) - NRAY - HES ol b e HlmS2
Al A4
- A
Ouns=d| 240,000 1 240
| 120
Al 60
- 60
oul=t| 100,000&x1Z 100
| 50
Al 25
- 25
ABHLE S 76,617 114,839 A38,222
Al 19,299
- 57,318
101 eI H| 5,309 2,315 2,9%4
M I1RINZ2Z2XsEs 5,309 2,315 2,9%
OHE=Z oz o2 4,770
OJl2= 90,0003 * 1 =44 3,960
OF5= 90,0002 x 158 720
Odxt=< 90,0003 x1H*1 0
OHE=SZ =018 AHEE AL SN RE3 539
O=8lz 4,770,000 *4.5% 215
OAHZEH 4,770,000 *3.545% 170
OLZEIQRAESH 170,000 *12.81% 2
Ons:sd™ 4,770,0002 *1.75% 84
O&THES 4,770,000 * 1% 48
201 B2 AY| 13,510 6,000 7,510
01 At 22|l 13,510 6,000 7,510
Ooget=2| 13,510
O0Z24l & ZOoHe! HES e 2 5
22 ME S 703 %55,000H+*35 11,550
OZ4l & HOHR! HEES S M
60,0002 * 1674 960
Ooglol & 4ol HgES tdE  EE
2 M= S 500,000& 2513 1,000
307 212+01 A 57,798 106,524 AN4B,726
Al 19,299
- 38,49
01 22 & 35| 57,798 106,524 AN48,726
ongEs 19,200
OLREZ ALY NLES
25,0002 *72H 1,800
O=z BEZ2tE NYES
5,800& *3,000H 17,400
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SN EABI Y
B mHOMY U LT WRMHIA HIB
ool 2y HAYR w2 (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEIEENEEE
32,165%%1,200H 38,598
Al 19,299
- 19,299
IZLHI HEES At 452,880 898,000 A445,120
= 226,440
Al 113,220
- 113,220
307 el2to| & 452,880 898,000 N445,120
= 226,440
Al 113,220
T 113,220
01292 & 3=H| 452,880 898,000 A445,120
ORIE2AZI|2 LS Al
452,880,000 x 14 452,880
= 226,440
Al 113,220
T 113,220
ololx & 430 AXMEX 89,088 64,598 24,490
) 44,544
Al 42,747
T 1,797
307 glztol & 89,088 64,598 24,490
Jl 44,544
Al 42,747
- 1,797
0122 & 3=l 89,088 64,598 24,490
oY U 00IZR2IANY]
89,088,000 *1 89,088
Il 44,544
Al 42,747
- 1,797
ShIQl ToHAF M&f A & AZ2XH 2,280 2,040 240
= 2,280
301 EetE NS 2,280 2,040 240
= 2,280
01 Al EE A ZS(2DEXMR) 2,280 2,040 240
OstdIel oAt MaZAL & A2 XS
190,000 x1&* 122 2,280
= 2,280
HZUIoHA QUM 22,800 22,800 0
Al 22,800
301 2= 22,800 22,800 0
Al 22,800
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A BAF
S AP L $AO Az AHIA MS
Chol: 2l StAET| 22 (cHol: 22)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| J| 8,640
24 Zshzte| Al 71,617 133,954 A62,337
| 35,807
Al 23,635
- 12,175
101 124d| 24,443 51,940 N2T,497
J| 12,221
Al 8,066
- 4,156
M IIRINZ2Z2XsSEs 24,443 51,940 AN2T,497
OB AHA FaA ALY IRy 21,052
OPIE== 78,830 * 175241 13,804
| 6,902
Al 4,55
- 2,346
O 78,8803 35 *x1H 2,761
| 1,381
Al 911
- 469
OHAxt=< 78,8303« *x1H 632
| 316
Al 209
- 107
OAIZtel=¢ 9,860R*1.5%120A| 2tx1H 1,775
J| 885
Al 582
- 308
(@FSELF= ] 140,0002+8&*1Z 1,120
J| 560
Al 370
- 190
(@INE=3EN ] 120,0002+8&*1Z 960
| 480
Al 317
- 163
O4UHEE MEBIRES 2,371
O=8z 21,050,6403 *4. 5%+ 1H 948
| 474
Al 313
- 161
OHLEH 21,050,640 +3.545%+ 1 747
| 374
Al 247




FA 2AHI 0
3 LYY L 2dE dsMElA WS
CHRlr 23Y Bl 2l EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 126
O YEE
746,250 %12.81%+1H %
D) 48
Al 32
- 16
(@NIE= )t 21,050,640 1.75% 14 369
7l 185
Al 122
- 62
OttiEe 21,050,640 1%+ 1 21
7l 106
Al 70
- 35
ou=t| 100,0002 1 100
Jl 50
Al 33
- 17
Ous=&t| 120,0002 1 120
Jl 60
Al 40
- 20
(OFFS5] 100,0002 82 +1& 800
Il 400
Al 264
- 136
201 fer= 3| 4,000 4,000 0
Il 2,000
Al 1,320
- 680
01 AtR2t2|HI 4,000 4,000 0
ozZs 222 7Y 4,000
osEs 254X 8002 *2, 000K 1,600
Jl 800
Al 528
- 272
OZ=MEK 4,000 *500 K 2,000
Il 1,000
Al 660
- 340
O82 EAH 4,000 *50% 200
Il 100
Al 66




SN EABI Y
B mHOMY U LT WRMHIA HIB
SRl Y SHAtET] 22| (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 34
O8&8 &% 50,0002 4 H 200
Jl 100
Al 66
- 34
307 @I2to| & 43,174 76,814 A\33,640
Jl 21,586
Al 14,249
- 7,339
012z & 2=Hl 43,174 76,814 A33,640
OS24 s As ZAHOIXIM PH 2§
) 17,2703 +500& 8,635
Il 4,317
Al 2,850
- 1,468
OZHeit HEFA 47,6803 %1004 4,768
Il 2,384
Al 1,574
- 810
ogREd 2 A X3l
1,405,000& x 124 1,405
Jl 702
Al 464
- 239
OZ8 ST S FHYHS 29 & 852
2t 2e 28,366
OLol o 2ol 2HAZ X2
28,3663 *1,000& 28,366
Jl 14,183
Al 9,361
- 4,822
ol2J|2t Zetaxt 22X 226,104 216,84 9.210
Il 226,104
307 @I2t01 & 226,104 216,84 9,210
Jl 226,104
02 2IZHBYAIHE & 226,104 216,84 9,210
OZ S It (212t 201 2) 226,104
O=JrZ8 gAY XECHEHEH)
7,684,000 »2H 75,368
Jl 75,368
O=0tZ3 LAY X (SHER)
37,684,000& +3& 113,052
Il 113,052
O=JrZ8 A X (SER2AH)
37,684,000+ 1 37,684




A
HUMHY Y 2HO MZMHIA MBS
Y =gl 2t (EEEE))
M- B SRASH) - HRAR - B2 of v e HIDE2
| | 37,684
PAA ZHRIUATAKE A 37,249 0 37,249
= 18,625
Al 12,292
- 6,332
307 gl2to| & 37,249 0 37,249
= 18,625
Al 12,292
- 6,332
0122 & 3=H| 37,249 0 37,249
OS2 ZHET AN L MK
37,2498 %1,000& 37,249
= 18,625
Al 12,292
- 6,332
2AHAZMBIA HIS 260,373 317,014 /56,641
BIEAEIA WS 3,734 3,134 600
201 er23| 3,734 3,134 600
01 AtR2t2|HI 3,734 3,134 600
oulad Zely EY 7Y
60,0003 #4284 x2 [« 12] 480
ouldd X %z 7Y
12,0002 65+ 12 864
oxgd & MSK 703 +1,5000H+105 1,050
OMEIE === 800,000 12 800
OAZ N HAAD| & SUMBIA ===
= 20,0002~ 12& 240
ouF A A2 7Y
150,000 x2&H 300
ooz MEIA HS 29,260 38,660 A\9,400
201 er23| 8,960 13,360 24,400
01 AtR2t2|HI 160 160 0
OT-LHHAl =8 =28
20,0003 x2& *43] 160
2 S22l 8,800 13,200 4,400
OYAE ZHEX| SN2
2,000,000 *2CH 4,000
OLAE SHME HMEAIAB(PACS) AL
400,000 12& 4,800
307 @20l & 20,300 25,300 A5,000
0122 E /=4 20,300 25,300 25,000
OgAE & 28 AFJEUS =8
20,000,000& *1 20,000
O8Il Il=H 50,0003 +6& 300
S ANHIA WS 150,259 21,100 129,159
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SN A
B MHOMOY U LT WRMHIA HIB
el 2HoZAMEIA KIS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 126,159 126,159
M ORINZZE2NSES 126,159 126,159
O&IZ AL =32 67,830
OFJI=1=) 350,000 146 51,100
ORsS5FE =€ 350,000&+10! 3,500
O=Fs=g 210,000& »525= 10,920
Odxt=g 210,000 11 2,310
O&IZ oA =2 45,570
OoJlzs 350,000 %101 35,350
O=s8%d =& 350,000 x4 1,400
O=s=g 140,000& »523= 7,280
Odxt=& 140,0003 » 1 1,540
OXIZ oA 2SS 12,759
O=2ds 113,400,000 4. 5% 5,103
(@Fak-t= 113,400,000 +3.545% 4,021
OLMIQAEH
4,021,000&*12.81% 516
OunE=2d 113,400,0002 *1.75% 1,985
O4tIHEE 113,400,000 * 1% 1,134
203 =] 2,700 2,700
03 A=A 2= 2,700 2,700
O=AHRFE 3,000,000&*1+0.9 2,700
204 APt AH| 20,400 17,400 3,000
2 SEEF3H 20,400 17,400 3,000
otfel syl 50,0003 x34H*12& 20,400
307 el2to| & 1,000 1,000
012z & 2=H| 1,000 1,000
(OFSE=2= 1,000
OSsdzo%EHl & 2 A2FH| 1,000
Eeif= PR 2,000 200 400
Atd|ok(2I S OtJIOtMN 2I 98)
25,0003 +105 250
S2ARE(SHYANE 2 95)
35,0002 +105 350
SISHBAMEIA WS 77,120 254,120 A177,000
201 2= 44,160 222,660 A178,500
01 At2t2lt] 44,160 222,660 A178,500
odg-0lol= 222 M=
1,000 *5000H 500
oZEd 2z HlE S
2,0008/*1,600kg* 123 38,400
Ozgd 2z Hol= dXE
1603 +3,000H 480




SN A
B MHOMOY U LT WRMHIA HIB
Rl 2H2AS AHIA KB EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OHl=Xcl fEXel 4002%100 £ x12& 480
oY HYHE IHEAIY =22 ME
2,000&*2,000™ 4,000
OdiXIet? ZMES e
1,500 *200H 300
307 2I2+01 A 29,460 31,460 A2,000
01 9= 2 3l=H| 29,460 31,460 A2,000
OZANE=E Al 22| 29,460
OZLHMITZZ ALAI2F 7002 *21,00024 14,700
OO0lIOI =& ALAI S 5,000 75024 3,750
OB& 2FH 24 AbAlF 90024 %2,60021 2,340
MBI ALAI2H(155)
400 *9,00024 3,600
O T AAIS 4002 *2,00024 800
OY ot MAHALAISF 6,000& *250H 1,500
OE WSt ALAI 2 6003 2,000 1,200
OLHZALAISF 100&*1,700A 170
OZHTALAISF 5002 x80024 400
OLY T AAISF 1,000& *1,000H 1,000
405 KHHE S| 3,500 3,500
01 XML =EFSHI 3,500 3,500
O3EdI0IED|D] 3,500,000 *1CH 3,500
WG HEE BHHE 2E 264,518 300,580 236,062
JES HANEE L SEXE 22 264,518 300,580 A36,062
JHRGHD st HAr2E 245,774 279,936 A34,162
101 2124 d| 53,972 96,777 A42,805
M IIZINZ2 2 NS Es 53,972 96,777 A42,805
OFNEL 212Y 48,512
OPIE== 78,8303 5 100 39,440
OFssY 78,8803 x5 +20 7,888
O¢xt==< 78,880 x5 H+3 1,184
OFNEL AUHEE MEX RES 5,460
O=8lz 48,512,000& *4.5% 2,184
OHLEH 48,512,000& *3.545% 1,720
OLoFRIAYES
1,720,000&%12.81% 221
(@ME=35)= 48,512,000 *1.75% 849
O&TEH 48,512,0003 * 1% 486
201 Ler23H| 154,740 139,240 15,500
01 At 2elt] 34,520 31,020 3,500
OFAI ROIGHIAIAE L ZEjZAIAE
E=a1= 450,000& 122 5,400
OFIEEHAL =7 1,700,000 13| 1,700
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2A:

M YNotD HRE BHHE PF
el FEet BANEE 2 SENY 2 (Gt H2)
SA BB (BI) - AISAY - BAS 0ol Ao dE= HD=2
- = L == - Oil ko =c
OSYAHRA 42 350,0002 %23 700
OAYAIHOIHZR|fEH o8
260,0002 122 3,120
OBAb HAUE 42 70,0002 %53 350
OFJ| MRS 242
650,0002 * 122 7,800
OHI|LH| HMAE 42
3,500,000 *13] 3,500
052 MHHEAUE 42
250,0002 * 122 3,000
OS2I HIZAM =22
150,000 %13 150
OFA BFEHIE 32 7
700,000 %1 700
OHA BHEEHIE ADE 8,100
OStEX & MEM 7
500,0002 * 122 6,000
OB rHII2E 7Y
1,400 %1, 500% 2,100
0 22329 120,220 108,220 12,000
02222 2 HAl 89,000
OFII2 6,500,000+ 122 78,000
OMsteER2 550,0002! 122 6,600
OEAINARZ 200,000« 12& 2,400
@mi=I=-TEl== 1,400,000 13| 1,400
OB Y2 LMY 2HAE SARS
50,0002 122 600
(OEIEEE=] 3,200
OGx=SHAMAIZHEE XDIRES
100,000 %53 500
OFAHTHEDR 2 SXSHA BHEES 2,700
Ha=r2sz 2,100,000 1 2,100
AXSHIAEER 600,000 *1 600
OAIEZHIRXIH| 28,020
OZAFADIDI(AIDSE AL S 120H0)
100,000 x 12CH 1,200
OZXHEHAIY 2Bt 9 ZHIRXIH
80,0002 %55 400
ONYUEZA ZHISAH|(HANHED 2
tH) 250,000 +2CH 500
OduE)| SXHI(HAE)
140,0002 *68CH 9,520
OSAIEY| SR 1,000,0002*1CH 1,000
O AL X 22l 15,400
- HAF ®OIEH KXY
5,000,000 * 14 5,000
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SN BAHFE D
M HARAZH|(EHL)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Al 22,675
T 3,602,571
ol 2FH] 3,488,974 3,386,718 102,256
Il 37,194
Al 22,675
- 3,429,105
QIARHHI(EHA =& &Hl) 3,173,250 3,138,034 35,216
101 @124H| 3,173,250 3,138,034 35,216
01 2= 2,737,077 2,663,836 73,241
osz2(BA8Em) 1,273,313
O¢SHSRA(E) 89,076
JlZds 80, 136,000& 1 80,136
bSESY Falall 80,136,000 » 12 *4% 3,206
HUAS 95,552,000 12~ 6% 5,734
0620l Z2& 1,184,237
62 (275 8) 4,377, 1003 «5F « 122 262,626
-7=2(1328) 3,134,700 «9F ~ 122 338,548
-82(828) 2,399,900 x14E 128 403, 184
‘92148 s) 1,865, 7002 x6E « 12 134,331
gPSEl Fals] 1,138,689, 000 *4% 45,548
Oaoi=g(2A3E ) 122,373
oties=a+g 6,406
58R (62305 3)
4,484,100 18 %4, 1%~ 122 2,207
‘63U (7=2288S)
4,015,700 2H #4 1%+ 122 3,952
bSESW Falall 6,159,000 *4% 247
oEz2+d 1,184,237,000& * 1/ 12+50%+22] 98,687
OZ2+gitit= 17,280
- 253014 130,000& 6« 12& 9,360
- 2001 &~25 012t
110,000& x2&+ 123 2,640
- 1090l &~15= 012t
60,0002 4~ 12E 2,880
- 501 4~10 012t
50,0002 x4~ 12 2,400
OIAHEE S (EAHF L) 9,480
OJEx=g 9,480
- B Kt 40,0003 *11H 128 5,280
=0 PN E 30,0002 +3&~ 12 1,080
7 IN{E 70,0003 18+ 128 840
AW 0l= XA 110,000& x 12+ 123 1,320
- JIEH JHE 20,0003 x4 * 122 960

_24_




SN EABI Y
A HZRAZHI(E2L)
chol: ol (19l @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS+oeag(HAHE ) 33,240
SLEEERS 15,480
=3 50,0002 x0& =122 5,400
g5 40,0002 x21E 128 10,080
OS¢ 17,760
Jlsd2sE 8,760
672 30,0003 102 ~12& 3,600
892 20,0002« 12« 122 2,880
-JISE - JIA JRE=Z
30,000 =2 * 122 720
-&HADIAL DHAE
20,0002 x5~ 122 1,200
-28% Jrts 10,0002 x3&* 122 360
R RsE 7,800
—2US A 50,000 8 * 122 4,800
—2IZ A 50,0002 x5~ 12 3,000
SR+ (UESR)
50,0008 x2& * 122 1,200
ORHSRE =g (2AHFW)
50,000 x1&* 122 600
OFASAH(2HHE Y
140,000 «35E * 12& 58,800
OYEFIMI(2AHT L)
1,184,237, 0003 *1/12+60%+23] 118,424
OSItEAHI(EH=AF ) 36,116
OHEMI 22 ()
83,342,000 *1/12%1/30% 122 +78% 2,167
O6=0lot SFRE
1,184,237, 0002 %1/12x1/30% 122 x86% 33,949
oss (LS W) 762,748
OHEMB 2 () 89,048
PRtil= 80,108,368& *1H 80,109
ISR Farlal 80,108, 3682 * 12 *4% 3,205
= geal=s 95,552,000 * 12 *6% 5,734
O6=0lst SR 673,700
63 (72 8) 4,377,100 ~4H 122 210,101
72(13&8) 3,134,700 6H* 122 225,699
-83(683) 2,208,200 «8H 122 211,988
PSES) Rl 647,788,000 *4% 25,912
(OGRS Cal e=tSinlp) 74,373
Oles=a ¢ 6,831
S8t (622953)
4,449,500 x3E *4. 1% 123 6,568
pSESP Falsll 6,568,000 *4% 263
od2=g 673,700,000& 1/ 12+50%+22] 56,142
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SN 2HAFH D
B HE2AAY| (B2
Sel: olzeHy| GO
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o828 M= 11,400
25H0( & 130,0002 x5+ 12& 7,800
- 1501 &~20= 012
80,0002 x1& x 122 960
- 10E0l&~15 018t
60,0002 2% 122 1,440
- 510/ 4~10K10 Bt
50,0008 x2& * 122 1,200
OIHEX = (AL ST 7,560
OtE+¢ 7,560
RN} 40,0002 x5 * 122 2,400
P IPVE] 30,0002 %3 * 12 1,080
=M 4 70,0008 x2& * 122 1,680
- JIEH OFS 20,0002 x10F* 122 2,400
OS2 R+E(AZSTY) 18,840
ORg2f=+4 7,320
s3 50,0002 x1& 122 600
g3 40,0002 x14H 122 6,720
OS+g2+g(AZSTW) 11,520
JlsdEsd 1,200
672 30,0002 x2& * 12 720
-8-9= 20,0008 x1&x 122 240
—AHADIAF JHEE
20,0002 1~ 122 240
eHIRE 7,800
—2S A 50,0002 x10E*12& 6.000
-S| A 50,0002 x3& 122 1,800
SxA2sd 70,0002 x3& =122 2,520
OZHSAHI (AL S L)
140,000 x19E < 12& 31,920
OZEFOHI(AZBAW)
673,700,000& *1/12x60%+23] 67,370
OLII2 I (AL ST L) 21,480
OdsSH S22 (1d)
83,314 % 1/12%1/30% 122 +78% 2,167
O6=0I5t SR
673,700,000& *1/12x1/30% 1221 «86% 19,313
OXNSEXHI(ZAHI L) 64,440
Os52 250,0003 1 ~12& 3,000
O6= 165,000& x5~ 123 9,900
Oors 155,000 0~ 122 16,740
0892 145,0003 20+ 122 34,800
OXSEXHI(AZ ST 36,000
O52 250,0003 1 ~12& 3,000
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SN EABI Y
M SM2oiAY| (P2
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
062 165,0002 ~4&x 123 7,920
Oora 155,000 x6& * 122 11,160
0892 145,000 x8& * 122 13,920
02 JIEtA == 436,173 431,084 5,089
Oger UIIH SR 417,813
oA (2ALE) 81,816,020&*1& 81,817
OAZSA(ZZ A
(78,207 0002 1% )+(69,500,000& * 1) 147,707
OHSH(ASIZARR)
51,168,920 2 102,338
OAIZAZ RS (ZZ 2| A
14,6923 *3BAI 2B+ 123 12,342
OAIZAZ 24 (HSI R AL
11,3193 x35A 2H+2E+ 123 9,508
OXMSIH&HI 353,712,000 *4% 14,149
OJ&E=g 2,160
BN, 40,0002 x2& * 122 960
P IPE] 20,0002 x 18~ 122 240
=1 I\ E 60,0002 x1& 122 720
- JIEF OtE 20,0002 1 x 122 240
YRS 1,310,000& x2E «12& 31,440
OoRga2e=g 40,0002~ 1 x123 480
OFHZAHI 140,0002 x5+ 12& 8,400
Ooioh2 At 7,472
AL
75,862,800 *1/12x84%+86%+1/30% 12& 1,827
HZ oA
139,628,000 * 1/ 12+84%+86%+1/30% 122! 3,363
B EARE
94,764,840 *1/12x84%+86%+1/30+ 12 2,282
OZZEXHI(LE FIIH SRY)
(400,000 *3% x 122 )+(165,000& 2L« 122 )
18,360
I 2AH|(EHH D) 168,083 150,058 8,025
101 @124H| 158,083 150,058 8,025
01 &2 168,083 150,058 8,025
OAlIZAZ24E (2HHF W) 158,083
O6= 12,5312 6 x3bA2H+ 123 26,316
ora 11,3192 x9S +BAl 2t 122 42,786
O8= 10,1622 x 14 +36A| 2+ 123 59,753
092 9, 185 x6E *x3bA| 2+ 123 23,147
OX I &bl 152,002, 0002 *4% 6,081
B4 ZEET; 2 A (A2 HHI) 51,955 22,312 29,643
Il 25,493
Al 16,825
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A BAF
M SM2oiAY| (P2
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 9,637
101 2124 39,324 20,156 19,168
| 19,177
Al 12,661
- 7,486
03 SR (I HS) 22X 2+ 39,324 20,156 19,168
OZHAIS Z2tS AL 21| 39,084
OPIE=1= 1,878,000 =123 22,536
| 11,268
Al 7,437
- 3,831
OZAHZ Al 140,000& « 12& 1,680
| 840
Al 555
- 285
OuEE 2| 120,000& « 12& 1,440
| 720
Al 476
B 044
O E St 1,878,000 *120% 2,254
| 1,127
Al 744
- 383
OEx&2E 20,0002 128 240
J| 120
Al 80
- 40
OdItE 4| 12,1232 +8A| 2H+ 10 970
OdU= 1,878,000 *240% 4,508
J| 2,254
Al 1,488
- 766
OAlIZtel=
12,1232 %1 525 A| 2+ % 12E 5,45
| 2,728
Al 1,801
- 927
Ou=s=dat| 240,000 *1H 240
| 120
Al 80
- 40
201 B2 AY| 100 100 0
| 50
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A BAF
M SM2oiAY| (P2
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 33
- 17
01 AtR2elt] 100 100 0
oul=t| 100,000 *1H 100
| 50
Al 33
- 17
202 0idl 1,200 300 900
| 600
Al 3%
- 204
01 =2LHO4 ] 1,200 300 900
E3| 100,000& x12& 1,200
| 600
Al 3%
- 204
M HAIFREIS 11,331 1,756 9,575
| 5,666
Al 3,735
- 1,930
M SR (DI 22X B2 S 11,331 1,756 9,575
o=tz 32,656,800 *4.5% 1,470
J| 735
Al 485
- 250
OHLEH 32,656,800 *3.545% 1,158
| 579
Al 383
- 196
OLQIEIQYEEH 1,157,690& *12.81% 149
| 75
Al 49
- 25
ons=2d 32,656,800&*1.75% 572
| 286
Al 189
- a7
OMTHEH 32,656,800 * 1% 327
| 164
Al 108
- 55
OfIH=0 =2= 7,655,000 15 7,655
| 3,827




SN A
M SM2oiAY| (P2
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,521
T 1,307
20 S ESAA(LHA2H]) 22,588 0 22,588
Jl 4,273
Al 2,136
- 16,179
101 @124H| 17,151 0 17,151
Il 4,273
Al 2,136
- 10,742
03 SRA(RIAHL) 22X+ 17,151 0 17,151
O=II0ILTEAY QIHHI(2HSA}) 16,911
oJlzs 1,878,000& «62 11,268
Jl 4,273
Al 2,136
- 4,859
OdHZAMH| 140,000 x6E 840
OusS2xH| 120,000 6 720
Og &S Itd| 1,878,000 *60% 1,127
OS=22+g 20,0002 62 120
OS2 4| 12,1232 <8 Al 2+6 582
Odoi= 1,878,000 *120% 2,2%4
Ous=dtl 240,000& 1 240
201 fer= 3| 100 100
01 At 2|l 100 100
oul=t| 100,000& 1 100
202 04| 300 300
01 =LHO LI 300 300
OZ&H| 50,000 +6E 300
04 HSRESS 5,037 5,037
M SRA(RIAL) 22X 2E2RES S 5,037 5,037
o=gg3 15,729,000& *4. 5% 708
(OFaksi-ah= 15,729,000 %3.545% 558
OLFIRYEE 558,000 %12.81% 72
onE:d 15,729,000& *1.75% 276
(OFIN Bt 15,729,000& * 1% 158
OEAS0H = 3,265,000 1 3,265
STUEHAIY Bxol=Y|(Q2HYI) 40,7% 37,897 2,897
Il 7,428
Al 3,714
- 29,652
101 @12A4H| 33,147 33,862 AT15




SN A
M SM2oiAY| (P2
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 7,428
Al 3,714
- 22,005
03 SR (RIH )22 E 4 33,147 33,862
OZXEAHAIE 2SS AF Q1218| 33,147
OJlEZ=s 1,848,000& «12& 22,176
Jl 4,851
Al 2,426
- 14,899
Od A SAH| 140,000« 12& 1,680
Jl 840
Al 420
- 420
OusS2xH| 120,000« 12& 1,440
2l 720
Al 360
- 360
OEE=It| 1,848,000 120% 2,218
7l 1,017
Al 508
- 693
OS=+22+g 20,000 * 12 240
OS2 4| 11,9512 x8A1 2H+ 10 957
=1}, 1,848,000 x240% 4,436
201 Zet=3h] 100 100
01 AtR2t2|HI 100 100
ou=l 100,000& %1 100
202 04| 600 600
01 =LHOLI 600 600
O=&H| 50,0002 x1& 122 600
04 HSRESS 6,947 3,33%
04 R (RIHA)22N BEESRES S 6,947 3,33%
o=gg=s 30,508,800 *4. 5% 1,373
(CFakg-abs: 30,508,800 *3.545% 1,082
OLQEIRAEH 1,082,000 %12.81% 139
(ONIE= )t 30,508,800 *1.75% 534
O4tIHEE 30,508,800 * 1% 306
OEXE0 EE= 3,513,000& %1 3,513
S AHIA MS(lE2eH]) 42,304 38,417
101 @1A4H| 33,628 34,309
03 SRA(RIH )22+ 33,628 34,309
OLZA 2tS A} Q12| 33,628
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SN 2HAFH D
A HZRAZHI(E2L)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oJlzs 1,878,000& «12& 22,536
OFHZAH| 140,000 x 122 1,680
OuEEZxH| 120,000& 122 1,440
OEEFIt| 1,878,000 *120% 2,254
OS=82+g 20,0002« 122 240
OYIt2 4| 12,1233 *BAI 2t 10 970
oY= 1,878,000 x240% 4,508
201 et 3| 100 100
01 At 22|l 100 100
ou=t| 100,000& 1 100
202 04| 600 600
01 SLHoIH 600 600
OE&H| 50,000 18 * 122 600
04 HSRESS 7,976 3,508 4,468
04 SR (RIHA)22X BEE=RES S 7,976 3,508 4,468
o=gg=s 34,426,6402 4. 5% 1,550
(OFakeisah= 34,426,640 +3.545% 1,221
OLEIRYEE 1,221,0002%12.81% 157
onE:d 34,426,640 *1.75% 603
o4t 34,426,640 * 1% 345
OEAZ0H = 4,100,000« 1 4,100
=238l 173,466 168,426 5,040
JI23Hl 173,466 168,426 5,040
201 et 3| 61,426 59,146 2,280
01 At2t2l] 39,430 40,150 AT20
oggt=ZH] 12,600
OFANEE+SH
(25,0002 %40 122 )0.8 9,600
Od=Jl &l & el
50,000 +5CH* 122 3,000
o=g=g 2,570
OgAH| 60,0002 18 *30& 1,800
OXNgEHA= oS =5
70,0002+ 11 770
(CF=FE 18,720
OSZ2=4l 8,000 x30 54! x 12 18,720
OXNSHEHo 2 A = 4,000
OXNSEHAZH A I
4,000,000& *12] 4,000
OXASIE DY 640
O2JAt 100,0003 2 x13] 200
OzZtS A, 2ZD[AL
40,0003 *x11E*12] 440
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